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ECONOMICS
( General )

Paper : 5.1
( Public Finance )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer as directed 1x10=10

et wepifs Tex forai
(@) What is public finance?

apidt fe 2

(b) Give one - example of non-tax
revenue.

TIPS 9B Tz A |
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(c)

(d)

(e)

(2)

Choose the correct word to fill in the
blank :

g% ol MR O WA 1R 2[ F :

In case of — (direct/indirect) tax,
impact and incidence of the tax fall
on the same person.

— (ITF/HAF) FNH (FI9, IN
ART oF POB R QIS (NI 8IS
Q1

What does regressive taxation
mean? '

TP FE & A2

State whether ‘Sale tax’ is a direct or

an indirect tax.
‘R T ATH (AT F9, S 1|

(h)

@

0

(3)

Mention one canon

expenditure.

IR IS 961 NS Tram 7901

of public

What is a fiscal policy?
R NS 2

State whether the
statement is true or false :

following

oo SRS TS (1 OPTS) SrEY 39

“In case of deficit budget government
expenditure exceeds government

.. revenue.” ‘

‘Wmmmﬁmwﬁt

(ﬂ What is external publlC debt? W @ﬁ@ i
AR IR 99 2 |
(g) State  whether the following -
statement is true or false : 2. Answer the following : 2x5=10
oo BRI TS 1 wPTe] BrEy 9 ; w1 fracare Tew for
“public expenditure§ are increasing (a) Mention two characteristics of public
in developing countries.” good.
“omEENE (PP IR I[-3FR" AR
o 1 | : | A T o1 CAET STE 91
A15—6000/228 (Continued) | a15_6000/228 ( Turn Over )




(4) (5)

(b) What is taxable capacity? : (b) Explain the merits of direct tax.
T 20 A 2 ST I QIR T |

(c) What is capital budget?
™ < &9 A (c) Explain the effects of public
G expenditure on production.
(d) Mention two methods of repayment BeAMR S9TS SIFIRN A 2SR TR 3+ |
of public debt.

SRR W ARCNLI oI ~IafS TrE 40 | o
(d) Write a note on the burden of
R internal debt.
(e) Mention two objectives of fiscal ]
~ policy. - ORI AT QI o BT (Brpl i |
e T o1 Trar D TeE T
(e) Explain the  limitations of fiscal
v , policy.
3. Answer any four from the following :
5x4=90 | - qECFRE NS AN AR 1 |
o i e wiRe Tag for |
(a) Distinguish * between public finance ’: () Distinguish  between balanced

and private finance. budget and surplus budget.

e e wF Ifere Rex qom 143
g 11

ANEH ACEE WE R ICHHI TSI #1203y
@efg 1

5—6000/228 Continued
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(6)

4. Answer any four from the following :
10x4=40

Eﬁﬁfﬁ@ﬂﬁﬂﬂﬁﬁ?%@ﬁﬁ#ﬂ:

(a) Discuss the’subject-matter of public
" finance.

I ey REEg ™ol w1 541 |

(b) Discuss the merits and dements of
indirect tax.

AT 9T BT AF @R AT 40 1

(c) Discuss the effects of taxation on
production and distribution.
Beoi W ROTR @R I/ ZoR
DA F40 1

(dr)' Discuss the role of public
expenditure in a developing
economy.

T SIS 'Fﬁﬁa T R
HICEAl 91 |

(e) Explain the reasons for growing
public debt in modern times.

e oS TS IR AT FRPTR T
30|
A15—-6000/228 ( Continued )

1)

(9)

A15—6000/228

(7)

Explain the role of fiscal policy at the
times of inflation and depression.

TErHIS SF TIRER TS JSCIAN Ao
BRI S T |

Describe the role of budget as an
instrument of economic policy.

e RS wfRen Rowt acedy g
Jefel 4

* * K
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ECONOMICS
) ' ( General ) -
4 | Paper : 5.2

( I:;trdducfibn to Growth and
Development Economics )

Full Marks : 80

‘Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in:English or in Assamese

1. Answer the following as directed : 1x10=10
o s oo franaRe T for -
FE ‘ (a) Mention one merit of - large-scale'
| industry.
TRR-TAR SR 9ot @ By T

() Almost all underdeveloped countnes
',. ' have a dualisti¢' €conomy.

(Write True or False)

| ' A TCENER SFe (PSR &% (70 4l
" ' - AT | (15 1 =pTeT fora)

' Al15—6000/157 "' ( Turn Over)




(c)

(d)

(e)

@

A15—6000/157

(2)

Name the organisation which prepares
Human Developmerit Index (HDI).

T SR o< 24T F1 AFIOR AW o

“A country is poor because it is poor.”
Who said this?
‘MW QA IRE (P 93 7RG 17 I B 0

ot h Crat IR
The first economist to propound the
theory of Balanced Growth g
Rosenstein Rodan/Nurkse.

N (Choose the correct answer)

Aoy TR ©F SSRGS Wﬁ%ﬁvm

. 0 TR o /A |

(o T TR B

. Mention one_ noneconomic factor of

economic growth.

HARSE TYa 9B S FIET SCHI [ |

What is sustainable develdi)meht?

( Continued ) A15—6000/157

(3)

(h) Mention the basis on which industries
are classified as large or small.

VLD EES] @emﬁ@@%w
fofacsr Seay w1 1

() What is capitalist surplus?
e e &2

() Mention a source of economic growth.

R T b1 BT om0 |

Answer the following :

wﬁwxﬁ?wm

(a) Give the meaning of the choice of
technique.

el ot e o |

' (b) Write two differences between large-

scale mdustry and small-scale industry.

Te- AR ST S G- SO e
o1 N foram :

() What is the problem of balance between
agriculture and industry in the context
of the theory of Balanced Growth?
el ST wagh ACCE IR SIE TR

- WSS ATOR] St 2

2x5=10
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(4)

(d) Name the two sectors of the Lewis model
of unlimited supply of labour.

Siftem =iy S @ DR 40 1B T
o

() Explain - the meaning of Gross
Enrollment Ratio.
P e wynm e Rkl

Answer ahy four of the followmg questlons

5x4=20
O] 2PIRIRT R @ vilkbig Tes o

(a) Explain the meaning of Forwarq
Linkage and Backward Linkage with
examples. -

CHRICIT GRS S A EL TR
TREAR S T 37

(b) - Explam the ~main problems of

"measunng economic development in
underdeveloped countries.

e wRifve FfAfe Tmme (R GIRK
- -2 STEPTRIR AT00 |

(c) -,'.Dlstmgmsﬁ between balanced growth
strategy and unbalanced growth
. strategy. ‘

e fE e wie W@Y‘j‘f b
FPER TS $oAT 391 |

( Continued )

(5)

(d) Assess the role of agriculture in
economic development.

AT TS FRY PR et 41

(e) Distinguish between econorrﬁe growth
and economic development.

g afes e WF AT TR Woo
T

(1 Explain the: backwash effects of
Migration and Capital Movement.

oG SF T AR PO oFFEH RN
I |

4. Answer any four of the following questions:
10x4=40

@ 2P R I BIRER Tes Bt -
(a) Explain the various causes of economic
underdevelopment. . 10

. el RePReR RS IR I = |

(p) Explain the Lewis model of unlimited
- supply of labour. What' are the

limitations of this model?" 7+3

AR ufies wfiy @EI" TRE IRW w14

2 IR SRgerE 2
A15—6000/157 ( Turn Over )
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6 )

'{c) ~Explain-the causes of vicious circle of
poverty. Give in' brief solutions to the
vicious circle of poverty-

TREeR RGEI IRPER ARM M| 5T
RIS W vrsnm weReeT
What is. Human Development Index

(HDI)? Explam the three basic human
aspects which are studied by HDI.

(@

Assume that India’s life expectancy at
birth in ‘1997 was. 626 years. If
maximum and minimum yalues for life
eﬁ:pectancy are 800 and 200
respectively, compute life expectancy
index.

e e e 7 TR T TRReY

wwwmﬁaswqamﬁtﬁﬁ%lw
I

T 4} ARl 1997 tS SO TR TS Sy
oo WIRE 62+6 I=F | IMCZ A AOMR

- Sy O fNFe I I 80-0 WIF 20-0
@,m%mWﬂWW|

(e) Dlscuss the unbalanced growth strategy

of economic development.

WWW{#W@‘» P!
SIS 37 |

7+3

24+5+3

10

- (‘Continued )

"

(9)

N

A15—6000/157

(7))

Explain the labour-intensive technique
of production. Give arguments in favour
and against the labour-intensive
technique of production. 4+3+3

2-fARG Beeo@ (s A 4 | =W AR
Beomet (FPER e Wi Rees I
SISRCGAT |

Why are small-scale industries (SSIs)
more suitable in developing countries?
What are the main difficulties faced by
these industries?

FE-TAR STAPTR Smme oo R @R

Ty ? GTR Sroww TR @R A4N
SRR & 2

How can economic- development be
measured through (i) national income
and (ii) per-capita real income? Mention
their limitations also. 3+3+4

AT T (i) O AW AE (i) TS

2FS A T gRT 1 2 R¥ow MaRzore
e IRA

5+5

* kK
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PHILOSOPHY
( General ) .

Paper: 5.1

Full Marks :. 80

RSN s
Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions :
wore e e B8 o

(a) Name '''one supporter - of
correspondence theory of truth.

STefer PR ©GCo TN I q&
1 forn o

A15—5000/204

1x10=10

the

-

( Tu.m Over)



A R SR (2) (3 ’

(b) What is the yardstick of truth according

to the pragmatic theory of truth? (g9 Name the trend of contemporary

philosophy  which  advocated the

TG oo SoEfareram ©g '\w:lﬂﬁ OIS verifiability theory of meaning.
TR R Ly 9y R ORIl SQCE ISR
RN FPTNRE T FOIW 1 4RIOR 1 fora |
(c) What is substance according to Spinoza?
) (h) “The cause is the sum total of conditions
Rerarens WS & &2 o positive and negative taken together.”
Who said this?
(d) “There is no" necessary connection “FRT R WP W Ao R ToRE
between the cause and the effect.” Who SR 1’ FYRE A (IR 7
said this? = '
() Name four categories of knowledge.
I i I IO ] ORI o

“ﬁl”tﬂ'i$wmqu Wmﬁa‘ﬁmﬁWI

() Name the contemporary philosophical

() Wha:t i ‘miaterial ' cause "according to theory who reject metaphysics.

Aristotle? SRR SRR F1 wﬁas TR TSATBT
@R 5o 7o ST A FF QCA? T ot
0 2. Answer the following questions : 2x5=10
. Can the theory of determinism justify .
ethics? | | wors faal 2T e o
a) What is the meaning of coherence theory
R q faf]Ac AeRem e IR ( of truth?
M 2
TR TR ogeR = ¥ 2
A15—5000/204 | ( Continued ) A15—5000/204 ( Turn Over )




8. -Give short answers (any four)

oY S il (R e wIfRGY) -

Al5—5000/204

T

(b)

(c)

(4)

What ijs Hume’s view of substance?

g3y 7= & Rews Teqmedt 2
v ‘|£l “.,I PR

State two features of the theory of
mdetermuusm

"'Wm%wm"amﬂiﬁm

- R

@ C

(e)

o

On what ground log1ca1 posmwsts reject
metaphysics?

B Ao & R R SRR

IR

“Existence ;precedes essence.” Write the

meamng of this expression.

<o e oa® 1 i A O 2

(@)  Explain the empiricist view of causation

with special reference to Hume.

I TeE B e ReR SR
SREeRT Todm I I |

Sx4=20

. ( Continued,)

(b)

(c)

(d)

(e)

(S)

Define with example each of the four
causes as laid down by Aristotle.

a2 *ﬂm’cm IIRIEE] zﬂ:m WW Wm
HIRCGIAT |

Explain the  distinction between
perceptual time and conceptual time.

90| . N

Write a short note on the nature of space.

P AR =S b1 B B for o

‘State two aréumente in"'et‘ipport. of the
.theory of determinism as put forward by

the supporters of the theory.

SiarCeral o1 I TCE T |
N 'What is  existentialism? Name six
exxstentlal thmkers
SREEm ﬁ‘ ? w aﬁwﬁ ﬁﬁrﬁvﬁ A for o
. Explain and examine the coherence theory of
truth. 10
O A TFLBT M B AR 1 1
A15—5000/204 - ( Turn Over )



(6)

i : o - Or/ 9y
Explain criﬁcally pragmatic theory of truth.

W%ﬂmﬁ@wmﬁww
ST |

. Write an essay on space and time. 10

P S BT F0E G o7 oy |

o t

Or/ 531

What is substance? Explain and examine the
rationa}%st views of the nature of substance.

I o t

. What is cause? Discuss the different theories

of causality. ‘ 10

e 2 w9 TP Ridw weprz wicems <41 |
| Or / g3y |

Compare  Hume’s and Kant’s
causality.

views of

P9 TACE R F I TSI o Sq1oRCET |

(7))

7. What is indeterminism or freedom of will?
Give an outline of the theory.

TRA FoFAW 57 9% TGOR 9F I ASRCEET |
Or / a3l

10

What is determinism? What are its weak
points?

o[qogam 31 Fafem & 2 TR [{erermz & &2

* k&
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‘2014

PHILOSOPHY
( General )
Paper : 5.2
( Indian Philosophy-II )
Full Marks:80 . - >
Time “3'hours

’I‘he ﬁgures in the margin indicate full marks
' : for the'questions

Answer all questions

Ansuwer either in English or in Assamese

1. Answer/ Choose the correct answer/ Flll in the

blanks of the following : 1x10=10
©od 2PN Tee i /uw Teg aifS SRiear/4i 5%
o[q 9l :

(a) Gautaima is the author of Nyaya—Sutra. is
it true?

(oq FIE-TA'T 2T 1'% FORA 7

A15—5000/205 ( Turn Over ). .



How many Pramanas are there in Nyaya
philosophy?

mmwmq@iﬁwo

)'l AT

The founder of Vaisheshika philosophy is

mwmm——n

v T1. ':T

(c)

AL

Does Yoga phﬂosophy accept the

existence ofyGod?

Q1at i oy iR e w2

(d)

Who is the founder of - Samkhya

philosophy?
AR T 2TEF T2

)

What is the root cause of the world of
- objects in Samkhya philosophy?

IR PR TS SIS o] 13T 2

(g) Samkhya theory of

mechanical/teleological. o
ARG T FARRTRM A /ST |

Evolution is

A15-5000/205

~*( Continued )

J

A15—5000/205

cmy e e

(3)

(h) According to Samkara, the world is a
creation of —.

WRFAHRI TS TF6 —— IR |

(i) “In Samkara’s philosophy Brahman and
Atman are different.” Is-it true?
“oqeIBRI TS FH W W foR V7 FARR
TR ?

() How is Ramanuja’s Vedanta known as?
EE @18 T R e & w2

2. Give short answers : 2x5=10
5 T i - i
g

(@) What do you mean by Purvavat
Anumana? - '
UREN wm ?ﬁm 1 1@71 ?

(b)) What is called Dravya or Substance in
Vaisheshika philosophy?

A TS T IF [TA ?

‘o
!

( Turn Over)



(4) | (5)

(¢ What are the first two' evolutes of (c) Write a short note on the five kinds of
Samkhya theory of Evolution? sufferings in Yoga philosophy.
AR TN TAREPT ©E1 AW S o1 & R 2 mﬂmwwwﬁmﬁwm
feram o
{d) What is ¢alled Chittavritti in Yoga (d) Write briefly on Samkara’s Nirguna
philosophy? Brahman and Saguna Brahman.
Qi wiTe Byl I @mee ?  XEFABRI ﬁdqaﬁwvr@qmﬁms{w
' : foram 1 Co
(e) Why is Samkara’s Vedanta said to be (e) Explam Ramanuja’s conception of
- Advaita Vedanta? - - Brahman.
RFAORI QT (3 7® @B QT 28 2 ISR T T0ICE QIR 00 0
. . : !

L _ . . . 4, What is Alaukika Prgtyaks;ha in ‘N&aiya
3. Give answers (any four) : 5x4=20 philosophy? Explaifi the various kinds of

Alaukika Pratyaksha. 4+6=10
s fian (R coreen wif) T T S 2o IR 5 gun e AR aeR
: Co , SRR eepw N A
(a) Write down about the five-membered | )  ory W
syllogisms of Nyaya philosophy. :
T P v SIRER SR Rca B o What is called Vyapti in Nyaya philosophy?
Explain the method of establishing Vyapti.
¢ b e E v . 2+8=10
() Explain tf;e"falﬁkhya concept of the T TS Y I @A ? WY o ofdh
plurality of selves. | <1 T, T |
AR PITT IR [T wznvrch IR 0
A15—5000/205 * ' (Turn Over)
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(6)

5. What is Abhaya in Vaisheshika philosophy?
Explain and illustrate different forms of
Abhava.

o e SR R 2 %"Rl@ TR IS
o IS dPR 90T WAl I |

"-Or/ﬂﬁ?ﬂ

Give a brief account of the different forms of
Dravya in Vaisheshika philosophy.

el i RiST o 7R @ oY 30 fam

. Discuss the arguménts for the existence of
Prakriti in Samkhya philosophy.

WWWWWWWW
ISR |

Or / &1
Explain Samkhya theory of Evolution.
AR ™Y oo SRS SGCoT A 10 |

7. Explam fully Samkara’s doctrine of Maya
RO TR I SCEATST 41 |

A15—5000/205

2+8=10

10

10

10

( Continued )| A15—5000/205

b

(7))

Or / &1

Discuss the seven-fold objections of
Ramanuja against Samkara’s doctrine of
Maya.

AFAORI TRV Reca IWECE SRR A6l
S S F40 |

% %k
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ASSAMESE
( Electlve )

Paper : 5__.1 ]

( Asomiya Kibita )=
" Full Marks : 80
Time : 3 hours

The figures in the margin-indicate full marks
for the questions . .

S

Sl aﬁwamﬁaﬁm " . $xdo=%o0
) Wﬂwzwﬁ*‘miﬁﬂm@?

() wwmmqmm

(51) m Wﬁ ‘§°?Iq s91<]- -a,,.{;“,
BRI mﬁ@aﬁmmq )
. (@) IR FERE asanarﬁmg: o ,,_@—
" (e) WRRAREN (AR PR W"Iﬁh’mmﬁﬂ 0
gl A P aRy 5o o

A15--3500/148 £& . . (Turn Over)
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(%)

®
(=)
()

e (2)

W@ IFARN Aq RO ‘@ W @
TR @mwawmﬂﬁf%

ﬁ#am«qu@ﬁw«ﬂm%v
FeRR’ Wwﬁw

Wmﬁsﬁmzﬁﬁa@wwww

() ST SR RO IS I 2

31 9T e S
@) e e e R e |
B Bha ofZgar I’

()
(o)

(@)

(¥)

A15-3500/148

e o T qF Be’ 2w qf [ R e
efer FRCR, o

R o Wo TR’ IR Higaa

W S oA NRR?

‘RIAF. VRF IA’ IRMHTS SN IS
CIICOT T3 O 233 1 ©eard v, o o

w%m“EWQQﬁ v;g;a
- F9E ol #fR e -
I3 FRNPT (TG IO 2 TS T @ 2

‘e’ *Ree @ira [ ToR Tw W
IR Corcg 2

QXQ=SO{

"' - ( Continued

(3)

'Ol ﬁmsﬁﬁmwm @x8=30

(F) O TR I AR OMA-CNARRCEA e
@CCR G- T >l e, Fewes’’
FRerfdy e 31 T4 1

(x) “CEAPTCE Lo J21 SR SIS |
fouceral zace e I pfon”’
IROFIRFT TS 17T FARM @R = |

() RRRET GRAF ‘7T T RS ST
SRl IR AT AR, ST AT
4T -

(7) PR IS (I IFE & P
Lo IR I R W O wE g
A FReIfos wEme guR o i

(6) IR Prfrersr e ‘cnefl’ FROWGR e
’ ﬁ-wm‘mﬂm,wmmwn

(5) TOTY TR ‘CICATER ¢’ IRE© 248
e s 1w, foran

() ‘yovB-Ry3 a's Rigs oags & & Sorwe
fafee, ScE T

(w) =@ S IR o S S FRer
TErS A3 NYFPIYZ, FERETSd A 4 |

A15-—-3500/148 ) ( Turn Over)



(4)

Sox8=8

8 | R coen oot e Tex fuan -

(F) FPomT oY “iRen fr (98T e s v
Yoo fort 1 -

(4) I EOR ‘qeAE-RE AW RIS B
o R sRa @ TS FH SRy,
AT 34T |

(o) TG ¥ ‘e IR @S

R Rowet Rom 3R «fb et g =1 |

. (X) IO AR G (7 WY IRete
PRI oA W AR T Oy, «ofb
AT &S AT | -

(8) R TN ‘oEpr el Sid YR FR
e IRTR @A AR W Barst Toid @
AT SSRCTHT |

(5) @Nlizaﬁﬁ“ﬁﬁl\?j{_lém if5F IRON Tore 4T
e $faiR «ft Fem g w411

() Parerr «6 v sRew wiuRs Baeriz
Remcs SR o, e #R et |

(&) IR S| WACHI FTOR SIam T
whieiy FR-=1R5w five 33 7111

* Ak

A15—3500/148
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3 (Sem-5) ASM L 2

2014

ASSAMESE
( Elective )

Paper‘ : 5.2

( Asomiya Natak )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
for the questio
¥xdo0=%0

(F) TR TR TR ete @A
o Fo1efe e IR MR 2

(X) AN SR N ToLT A ot o

(1) I SICIAIES TYOFT *RIICWC TR A6
. 51 IRMRE 2 ; ,
(@) COfSePT SRAER T P @
L (e) ‘W ar el | R G3RR
SRR | T YIS | IU.©F T =7,
MR ?” I @A A ?

( Turn Over)



(v) v e e T 2 1 @ ofor s e T e SR R
() ‘O, AR CE-RE IS R | s |
TR @Y n () ‘<Fo Rom IFR YRR ? MR, FEIR T
(w) wwﬁaﬁamaﬁw@amﬁw T @ﬂﬁﬁm@ﬁ;ﬁﬂg TS LT O
Y 4, ST W HAH AfSIM 9, SR
() mmmwmaﬁ-aﬁaﬂmﬁsﬂm? T PR FURE AT A i, B
(<e) wrr @ ey o (afe, @R P _
AR (@) T FA Abee wFe AN sRawr
Q1 WWﬁzﬁ e .._ QxQ'-;é . ﬂmﬁmﬁ%ﬂzﬁwﬁﬂw
() Wwﬁmaﬁmwmm—m I R v “fiRee, oCe B |
2I5TeTS FB1 CETP-AOIgOmR = fordi | (8) ‘wfE-zeR Co 1’?%35?;!% %?EL
oy o R ? e Wi~ “ifSers, -
() oER Prams T T8 T T 7 ?ﬁa 7 T GRIR | AR T wfw
@ IS 4 PIRA 2 frcer Wif TER TR SPR R WA 17
} R AR, BO AR wR'TE IR @feice fre FYRRT SR KRR i | |
. SRR -,ﬁwm’ww" (5) I AN S’ Ao Rew sRadr R
(7) =TS o TR R fordr 1
(8) ST IR IR A s | | 81 R o wiRE! o BT IR - Soxg=80
o1 R @ICH oG 2 e AT ¢X8'~=§f% mﬁwm-@ﬂawﬂﬁmqmr’
(F) “z 4R, R I 77 wgS WE TFS @R ” R P ST 4

(¥) amRed’ A6 77 o @fo 7w g8 747 |
(1) “Afve’ SmefEe- SR (ERAR SR

o % CSCE | Fd N, [ ow, [FA
T Y T AR @ FARA @I,

1, [ tafee, gk Brdn T 1 G2 R sy wfSer ofRafb sets
e 4!
A15—3500/149 (Continueq| A15—3500/149 (Turn Over)



(4)

() TSP SRR ToeIfes TB-AfS o=
@R SR iR, @fSer ABFd LIRS
Rom=t1 , , ‘

(&) - B ot 2 ABFTS SR oIS

ToeR R e Caer, o 341 1
(6) ‘T8 wE TR e FRASER  ACwH
TIPS SR SAfe, AN W Cifiee
. i foa e s Carm, SIAGST 9 |

(8) et DY WICSR ABIRIIA AR =R
R Wi 4Reg, ScaAmA T4 1

* K &

A15—-3500/149

3 (Sem-5) ASM L: A15—400/121

- 3 (Sem-5) NEP L 1
2014
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1. Fill in the blanks : ' 1x5=5"
(a) In_femational Literacy Day is celebrated
on —— every year. - -
SEEfeT Aol i oS I —— wiRey
AR I |

(b) In Assam, District Primary Education
" Programme was initially started in ——
districts.
e e anfie e SR cmaam —
3 feTe oS 4 2 |

A15—27%/98 ~(-Turn Over )
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2!

(cf The Operanon Black Board

scheme was introduced in the year

bel© T[98 F41 24 |

- (Bl

(OBB)

(d) The Prohibition of Child Marriage Act was

passediin ———-

[l

e
(c i el SR T —— T |

is caused by iron deficiency.

2. Read the following statements very carefully

and
4ncorrect’ :

write whether they are ‘correct’ or

IXS—.—:S

meﬁmﬁ,ﬁmﬁ’%ﬂ:

; 2011 Census of Ind:
According to ; ndia, the
(a) literacy rate of female is 65.450,

zoumwmﬂwm‘f%mm

ArEAOH R 65-45%.

) Universalization of Primary Education in
India has three StagES—-universalization

of provision, enrolment and retention.

59T GE P iR R
WE-Ifa e,  Awefeead W

I |

Al5—27*/98

( Continued )

(3)

(c) The National Commission for Women in
India was set up in the year 1945.

SO B Ao WIS 1945 v S 2T |

(d) Cocurricular activities have no role to
play in the development of national

integration.

TR WS [orE cras Tl FriEaR

CPICT 43979 PRt 12 |

(e) Work-experience in school curriculum
was introduced in India by Mudaliar

Commission.

ST FAEl reEe  I{-SfSwel  (WICeRE

IR S Zﬁﬁi%ﬁ‘i |

3. Answer the following questions very briefly :

TS Tl eppiyes Wi vt Tee i

2x5=10

(@) What is meant by Universalization of

Primary Education?

N Bewra st e & e 2

(b) Mention two objectives of Total Literacy

Campaign (TLC).

7ol STrael SfSae {51 SR T SCEd T4

A15—27*/98
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(4)

() What do you mean by women
empowerment? - ' -

AR TR e FIW?

(d) Explain the concept of Human Rights.
YT SRPRI QRO I T 1

(e) Mention two

globalization.
IR To1 LT Ao ST 3041 |
4. Write notes on any four of the following :
woTe frame R @I SiROR RS e foray
(a) District Primary Education Programme
(DPEP)
e enaifice e ol
() Role of educaton in  women
empowerment
AR SRAFITS PR PRI

(c) National Human Rights Commission
T TT SRR Al

(d) Concept of National Integration
wrow FRfeq 41l

Al5—27*/98

positive  effects of

Sx4=20

( Continued )

R

A15—27*/98

(S)
(e) Impact of globalization on education

(f) Vocationalization of education

e T

5. Answer the following questions :

woro fAA ePPTRe e fim :

(@) What do you mean by National Adult
Education Programme (NAEP)? What are
the aims of this programme? 3+7=10

B, 2neEg Pren ok 3o & @ 2 @ B
Sivie rEpTE R R 2

Or / 91

What are the existing prejudices against
women in our society? Discuss the role of
education in removing them. 5+5=10
W TS WKR Recs woke PRI
R oz wemrm crae FER SR
HICHOAT 47 |

(b) Explain the role of UNESCO in promoting
Human Rights education. 10
T SRPR-Rwrs freR [RIpE oFae TERE
iR, trefie wrE MeeRieT R PR
HICoAT 47 |

( Turm Over )




(c)

(@)

SICED 91 |

Discuss the World Declaration on the
Survival, Protection and Development of
Children. 10
Pres P, ReM 9IF SRTERRT crae <

T AR RrerreieR Ty Seesay <oy |

Or / %1

Discuss the negative effect of
globalization in our country.

SR (7S FRarT FFePTIR SCEs=T 347 |

What is meant by student indiscipline?
How can indiscipline among students be
prevented? 2+8=10

RE-SPIPRRTS I [ wew e
PRl e e #RE o 2

(6) (7))
Or / |3 Or / =91
I What do you mean by international What. are the proplem§ of
| understanding? Discuss about the role of vocationalization of education in our
! teacher in imparting education for country? Suggest the measures to solve
il international understanding. 3+7=10 those problems. S+5=10
i ,
' e qEem 3P0 B i R (pre A RReTR crae o
O e PR (RS Praey i TR R R 2 (O TP TR Soere

JFEZ 19RO |

* %k %
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for the questions

Answer either in English or in Assamese

1. Fill up the blanks/Write true or false of the
following : 1x10=10

wore AT Al 9% 279 IN/8% G S5 B

(a) Measurement means description of data
in terms of —.

(AT B —— I, (R AR |

(b) Mental measurement has no —— ynit.

TARRS ARTTR @A —— G 13 |

{c) —— means truthfulness of a test.
— HOFH HOOIF JTH |

A15—27*/99 ( Turn Over )




(2) (3)

(d) Intelligence test was first published in 2. Answer the following briefly : 2x5=10
e wer FATCaRe v Bod fi

I SO 2w e R — v |
(a) What are the different types of

(e) Range is the measure of ‘ measurement?
s @ 2w TR ——A R | e ffen e & &0

() There is no limit of coefficient of (b) Define achievement test.
correlation. <oy o e fi |

FTTE QT T I S 2 |
(c) What is validity of a test?

(g) A student has earned 65' PR, it means SSr tagel 75 2
65% made score below him.
QI & AT X[oens F 65 Jfelce] Jo I (d) What are the different methods of
@ (967 TS 65% TF X | graphical presentation of educational
data?
(h) Standardized achievement tests are i wym foa R Rty W
prepared by teachers. ISR
AT Ffog Serwrz s 2ws 3 |
(e) What is correlation?
i) Standard deviatior} is tht? n?.(?st reliable N 30
method of measuring variability.
e Rpfe xm el AR ShRes 3. Answer any four of the following : 5x4=20
farsaeisn omfs | oo [ @ieen wifRsE e fos

(/) Analysis of difficulty level is not a step of
item analysis.

Tiverel B9 RCME eew Romers @ @9 7157 |

(a) Distinguish between measurement and
evaluation.

AARNIof S e TS A1 foefy 3547 |

Al15—27*/99 ( Continued ) Al15—27*/99 ( Turn Over )




4. (a)

A15—-27*/99

(4)

characteristics of

(bp) What are the
psychological test?

mﬁawﬁawslwtaﬁ@m{iﬁsﬁw

Write briefly on objectivity of a test.
SO IBMVOIT SRS ST o

(c)

What are the characteristics
standardized test?

sfenRige woreR PR [ 2

(d)

of a

Discuss the various methods
calculating central tendency.

Fa el ffiees RiYT orafemz & & 2

(e) of

() Calculate SD from the following set of
scores :

TS il A o[ e Rpfe Refa <
15, 12, 18, 22, 5, 27, 8, 35

What is evaluation? Discuss the
importance of evaluation in education.

3+7=10

TR R0 e cvae RN @wg e
HICATSAT 3T | '

( Continued )

(b)

(5)

Or / 91

What is measurement? Discuss the
different types of mental measurement.
3+7=10

ﬁﬁmmﬁvﬁﬁwmﬁ?mﬁmﬂm
ST 5T |

What is essay-type test? Discuss its
merits and demerits. 4+3+3=10

T s 7 WRoREe we {eel
ol SIS |

Or / &3[T1
Explain the different procedures of

determining the »reliability of a test. 10

<51 sorpR SIS e Riva m

HICAGHT 4 1

() What is histogram? Draw a histogram

from the data given in the following

table : 2+8=10

refta &2 oo far oiffRT o[ @bt SRy

g P4l

CI | 65-69 | 60-64 | 55-59 | 50-54 | 4549

f 7 8 14 15 13

CI | 4044 | 35-39 | 30-34 | 2529 | 2024

f 6 3 8 5 1
A15—27%/99 ( Turn Over )
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(6) (7)
Or / T | or / weT
Make a frequency distribution table from Calculate correlation from the following
the following data with a class interval data through rank difference method :
of 3 : 10 T OROY &S ACHs TR Soe i SUrRS
3 % s ¢ oS Al OUR R @y o] FTTH efa 90 :
IO Rerem oI 2@S 34 : | Students X © vy
32 78 27 65 88 83 63 52 ' A 80 82
8 70 42 66 56 44 63 59 B 45 86
73 52 43 69 59 46 71 65 c 55 50
42 55 39 70 57 49 78 70 D 56 48
34 61 62 77 81 72 79 69 E 58 60
(d) Calculate quartile deviation from the F 60 62
following table : 4 10 G 65 64
TS il wiftRer < vpde RS fefy = - H 68 65
R . I 70 70
cr f J 75 74
72-74 2 K 85 90
- - -69-71 5 Noil
' '66-68 8
63-65 11
60-62 13
57-59 20 * ok ok
54-56 14
'51-53 11
48-50 : 9
45-47 4
| 42-44 3
- , N =100
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POLITICAL SCIENCE
( General )

Paper : 5.1
( Public Adeéu#éon,)
Full Marks’: 80 b
Time : 3 hours

The figures in the margin zndlcate full marks
for the questions

Answer either in English or in Assamese
1. Answer / Choose the correct one of the

following' : i 1x10=10
FafRerRT bet / @‘s%aaﬁ%ﬁw

{a) Who is regarded as the father of Public
g Admlmstratlon? ‘ ‘
- 2P et I w1 TR 2

(b) ‘Administration’ has been derived from
which Latin words?

2P’ (administration) "Fh‘cﬁ IR
Latin *<r *[l SR 2

A15—25*/202 (. Turn Over)



I D&

(c)

@

)

(2)

i 3-9d.

The  integral; /view of  Public
Administration was supported by
Dimock / Simon / Thompson

mﬁ*nm R Iﬁ—% W IR
ez / SR / WA |

“Public Administration is the art and
science of management:as'applied to the
affairs of State.” This statement was
made by Waldo / L. D. White / Gullick.

“TB-Rezs @l I @RF-LIFE (R Tl
Wﬁwml” @WW&W /
mﬁmam/ml

Wﬁdée ;1ame .is' assoCiatéd with the
. machine model theory?
R =¥ ogq 5o IR TN HES € |R?

- “By . organization we mean a planned

system of cooperative  effort.” This
statement was made by Simon / Gaus /
Luther Gullick. =~

OB @1

Ao e g R SRGI i

'W/ﬁﬁ/ﬁﬂﬁ@ﬁﬂl

A15—25*/202

. :("Continued )

(3)

(g) . “The Government Corporations are

()

(i)

A15—25*/202

called Tsland -of - ‘Autonomy’.” This
.. statement is True /- False.

TR TR - “ToTOR Ao’ iﬁl@m

| RIVAEE T [ TR |

The word corruptlon ‘has come from
which Latin word?

PP O (PO @B B o[/l

IR ?

(i) Corrupt
%

(i) Corruptus .

FI0G .

- (i) Corrupte

FWD
(iv) Corruptuse

TP

“The staff 'is the expansidni of the
personality of the .executive. It means
more eyes, more ears and more hands.”
This was said by Mooney ; White /
Simon.

“W' Cc,-n'f,‘ m \W”ﬁ TS ﬁ
TR | T AR 5%, AR 1t W @R ToF

e @Wwﬁm/m/
BIZAC |

Thesit o

23 Turn Over)



(4) (S)

() “Government Corporations are organ- (d) Who are the main exponents of the
" ized to achieve a public purpose classical theory of organization?
authorized by law.” This statement is RIS TS ST o1 SO (@I (I 2
made by Seidman / Shukla / Pfiffner.
“saIl FremRere qidEs 1Y o{R II LIECE] (e) Mention two merits of disintegration.
WO s w0’ R OSRED XR® Ao 1 @R Rac Bewe 1

R [ oge [ PR |

3. Write short notes on aﬁy‘jbur‘ of t?he .

2. Answer the following questions : 2x5=10 following : Sx4=20
OO 2PPIYEE T fora | FafRRee ﬁ A ﬂﬁ%ﬁ w{ cﬁm ﬁm
(@) What are the views about the scope of (a) Importance of Public Admlmstratlon in
Public Administration? a democracy
CTR-ep o AW RS0l TIOFS (P-LTTT FFg.
&9
(b) Public. Administration as. science
(b) Mention two problems confronting Rem BRI @R-2rm .
.Public Administration. : | .
-2 o e W e REa (c/) POSDCORB theory
,%rmwn o POSDCORB ®§ - - .,
{c) What is good governance? (d) Four bases of organizatior; . -

TemEf HRora BfoT fofe

 A15--25%/202 (Continued ) |a15—25*/202 %:( Tuin Over)




et e e

(6) ? (7)

{e) Span of control : (d) What do. you mean by Ethics and
. _ R : Values in Administration? Discuss the

ﬁil’:!‘i? ﬁﬁmﬁ“\?% importance of Ethics and Values in
B Administration.
] Four advantages of centrali?ation ‘. PP (STl wre T e =7
B iR SR | IS COFS SIF PR G+ SO
ML ' 1

,' (e) Distinguish beween Line and Staff,
4. Answer any four of the fouowmg qugstlons w

~ 10x4=40 IR T SF T oMY o e
"o R G wﬁi‘( e e P - AL
(a) Make av dxstxnctlon between Public () Make an estimate of the functions of the
- Administration and Private Administra- Chief Executive as a General Manager.
tion. : 2R ROERE RO 1 PR IR
YEURA 4 |

-2 o R AP TS (T&AT |
(g) What is meant by Aumhary Agency?

(b) Examine: the Sc1ent1ﬁc Management Discuss its functions.
theory. . ¢ TIF b et B w2 TR e

S 4 |
R BicEien) —\g'(,%i 9@’5‘7 Al
) (h) Explain the differences between Public

(c) Distinguish between Formal organiza- Corporation and a Department.

tion and Informal organization. ST R S RSPR Wers <@ <reffRen
M 0
SRR ey orF mr{brﬁ@ RIS BT
g w14
% %
A15—25*/202 ( Continued ) | 5 1 5—25*/202 ' 3 (Sem-5) PSC 1




3 (Sem-5) PSC 2

2014

ANy e , N i
an

POLITICAL SCIENCE
( General ) N
Paper : 5.2 -
 { Select Constitutions—I ) |
. Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
e e oo Fraass e fora

(a) Magna Carta’ is.intimately related. w1th
the US Constitution,

( Write True or False )
‘Magna Carta ireEoar TR T
SSLATTSNA TS | ( 3for 31 fg foran )
(b) ‘Collective responsibility’ is a feature of
the British Cabinet system. ,
( Write True or False )
TRE el IR I@TeR @Bt tafiEy |
( o1 31 fawg ot )
A15—25*/203 ‘ (-Turn Over )




consgn et o (20

(c) ‘The Declaration ‘of Independence’ of
Amenca was pubhshed m' ,

() 1689 e

(i) 1776

(iii) 1789 :

(iv) 1857  ( Choose the correct one )

IR I

[ )

SRR "z@m cwn wwﬁ =

(i) 1689

(i) 1776

@) 1789 -

() 1857 (0% TTH I BRtear )

(@ The UK Constitution is based on the
doctrine of ‘separation of powers’.

( Write True or False )
iz TR TR ERT N sore
afefde | | (31 = fiy o )

(e) What is the name: of the Upper House of
the US Congress?

SR WY T T A 2

A15—25*/203

. [ Continued ) A15—25*/203

(3)

] Origina}ll)},' the American federation
< consisted of TR
(i) 13 States ' o
/(i) 15 States® |
(iii) 17 States
(iv) 19 States.
T ( Choose the correct one )

F BICHIT TSR o1f¥e Czfe
() 13 ¥ 98I AW

IR

(iv) 19 3 AT T_

(o= %mzm iR Sfrea )
(g) The President of Umted States holds the
. office for \
e (i 3 yea}s < x
(ii) 4 years
(iii) 5 years i ., -
(iv) 6 years' '~ .. {.
( Choose the correct one )
AR T et
() 33T
(i) 47| .
(i) 5 I .
() 6T (o Tewh qR hed )

i ("Turn: Over )



(h) The. President is the

®

A15—25*/203

(4)

Supreme
Commander of the armed forces of
the United States.

( Write True or False )

TR A WEReR smfs  IRAR
SR | ' ( o1 =1 firy foran )

Who said—“The Cabinet in England is
the steering wheel of the ship of the
State”?

(i Lord Acton

(i) Laski

() J. S. Mill

(iv) Ramsay Muir
( Choose the correct one )

@A (FRe—“The Cabinet in England is
the steering wheel of the ship of the
State”? C

(i Lord Acton

(ii) Laski

(i} J. S. Mill

(iv) Ramsay Muir

(%ﬁmaﬁﬁﬁw)

(-Continued. )

0

. Answer the following :

5)

During emergency; ‘the life of House
of Commons may be extended beyond
five years. ( Write True or False )

EFAPAA TTLS PO SR IR i[5 TIGLT
W g o ( 3701 71 figy ot )

wore AT Tey foryn -

(a) Write two merits of the parliamentary

(b)

(c)

system of government.

A SIPIR o1 @ forar |

Write two demerits of presidential form of
government.

Identify two features of the British
Cabinet.

o wqrer o1 cafdiey foran,

(d) Mentiori two functions of the House
of Lords.
o1 STor K51 TR By 34 | |
(e) ldentify two features of ‘rule of law’.
"SI P 1 IRy Sy <y
A15—25*/203 (“Turn Over )
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(6)

3. Answer any four of the: followmg
—aaﬁi@mﬂrmﬁha%@aﬁhn

{a)- Write a note on ‘constitutionalism’,

- RYRORTT @RS BT R B |

(b)) Why is the British Constitution regarded
as ‘flexible’?
ﬁ%ivrﬁwmwa$'ﬁw R’ vkﬁmw I
Pt |

! . D

(c) Write a note on ‘checks and balances’.

5$$3§sﬁﬁmf§ﬁwahindWNiﬁﬂl

(d) Discuss the composition of _t.“ng Us
Congress.

- AR AL NI ToCF ST T |

(e) Briefly discuss the ‘Bill of Rights’.
iR Rewe'd R s4ee s 4 |

S,

(), Write a note on ‘pre81dent1al form of
government’.

BB v’ RIa ot G foran

A15—25*/203

5x4=20

( Continued ) l415_ ns5+/203

(Z)

4. Answer any four .of the. following :.
wa@ﬁhnaﬁwﬁi@mmrﬂﬁﬁa%@aﬁ*n

(a) Discuss - the sahent features of the
US Constitution.

ARIR KR o tdﬁquz AT
FML,
N

(b) Compare the powers and position of
the Prime Minister of Britain and the
President of USA.

Wﬁmﬁlwwi@ﬁﬁ?w
qE TAfHfey gae Fr 1

(c) Discuss the executive powers of the
US President.

vma#@waaﬁrﬁ?i?mﬁﬁﬁvﬁmwaﬁhmqvm@m$n
o g

(d) Analyze the powers and role of the
Senate.

mwwmﬁm«qwl

(e) Discuss the functions and role of the
Supreme Court of USA.

AR THoN TR I wF iR R

- 10x4=40

(3Turn-Over )




(8)

(i Critically compare the power and
position of the House of Commons and
the House of Lords.

I o] WF A6 Yo HIYGl WEF SIFfoq
FACEOAEE Porl T4 | |

(g) Discuss the main features of the British
Judicial System.

e i w2 CAFBPTR SICETOAT 304

m) Analyze the main powers of the ‘Crown’.
© qrETar' A4 HIYSRAR ReE 4 |

* & K
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HISTORY
( General ) -

Paper : 5.1

[ History of India (1757-1857) ]

Full Marks : 80
Time : 3 hours
i The figures in the margin indicate full marks
\ Jfor .the questions
Answer all questions
Answer either in English or in Assamesé"

1. Answer the following in 1 word or sentence :
‘ ' . 1x10=10

Wﬁmwwaﬁwmmﬁm:

(a) Nafhe two goods imported bj»;lg_ndia from
Arab countries during the time of the

Mughals.
(TEPRR TS SRR [l SIS SR
91 434 SIS w1 o o
'115—3000/158 7 { Furn-Over )



(b)

(c)

(d)

(e)

A15—3000/158

(2)

Name the last battle fought between the
French and - the .English East India
Company in India.

T Wi A 2B 2T @I TS TTS
@ R L&A A o

Name the Persian invader who defeated
the Marathas in the Third Battle of

Panipat.

AN T JFe ARSFIFF IS8 1 Ao
SREFRerRFRIE A R e ?

What is Sunset Law?
wE AR

In which year was an Act passed by Lord
William Bentinck to stop the Satisystem?
@ o 7@ IRAA a6 TAN Ao
TS 2 23S IR ? '

Name the State which was the first victim
of Dalhousie’s Doctrine of Lapse.

OO TR NS AW @ TS Ay
= |

(3)

(g) Name the British East India' Company’s
General who had defeated Haidar Ali in -
the Battle of Porto Novo (1781).

1781 573 I8 TN Tao A VPR RS T4
Mr B Wa @y crRems T &

1fRe 2

(h) Who was Tantia Topg?
<O B @ R

() Who was Dupleix?-
Teo (P IR 2

() Where did the Revolt of 1857 first

originate?

1857 o1 RuR 3’ 91y wes (2R 2

2. Answer briefly :
w<firg e fran -

2x5=10

(a) Mention two terms of the' Treaty of

Allahabad (1765).

5—3000/158

R G (1765) o BT 1

{ Turn Over )



(4) (5)

() Mention two commercial reforms 3. Wrte briefly on the following {any Jour :
introduced by Warren Hastings. | Sx4=20
fcaresiea R syt o (R e wikd)
AR S 2R T o1 AT FAFE T
41 | (a) Hastings’ relation with the Rohillas
QIR F19® (2B o6

(c) What was the Subsidiary Alliance? :
(b) Dual Government in Bengal

SRR fge! Aife 2 o

(d) Mention two causes of discontent of the (c) Merits of Permanent Settlement in

Bengal
Sepoys before the outbreak of the Revolt
of 1857. 1 T
1857 v fitarzd AReyzs® BRPRe SefEs | (d) Treaty of Salbai (1782)
761 TR fora | | 1782 53 Boi1E it

(e) Tipu Sultan as an administrator

PP f2o1eet 5] perem

(e) Mention two causes for which the Treaty
of Amritsar (1809) between the British
and Maharaja Ranjit Singh is regarded as 0
diplomatic defeat for the latter.

Dalhousie’s educational reforms

CTTRIeoR il g
1809 o 3oy o WAl Jfge Freg were ?
@ YR et ‘TR qfge Fied (9) Suppression of the Pindaris by Lord
Hastings
LTSS ofarery o1 Rcaoenl S 701 el fore | g
6 (2fB5e w[l PrerfR www
A15—3000/158 ( Continued ). A15—3000/158 ( Turn Over )



(6)
4. Answer any four questions from the
+ following : 10x4=40
ors T 1 coTean TRt e T fora

(@) What were the reasons behind the failure
of the French in establishing their power

in India?
TP, SHeT  (OScIFd. Tl Afdfe
FfI W TR IRPE [ e 2

(bp) What were the results of the Battle of
Buxar?
IR Tl TR & wiifee 2

(c) Discuss the social reforms mtroduced by
Lord William Bentinck.

6 TPeEw  @fbw s @ IR
TRERA Recw et 341 |

(d) Discuss Lord Hastings’ relation with the
Gorkhas.

M - TS o6 @%«Wﬂ“ﬂ#‘qﬁm.
HICA= F4T |

—

(e) What were the causes of the Revolt of
18577

1857 w9 fvars Fmaermz & 52

A15—3000/158 ' " ( Continued )

(7)

() Do you think the Revolt of 1857 was the

first war of Independence?

1857 v Reae off SRy o F@Ter 35
1 ORI 2

* * %
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HISTORY
( General ) '

Paper : 5.2

Full Marks : 80
Time : 3 hours
W

The figures in the margin indicate full marks
Jor the questions

, Answer all questions
Ansuwer either in pn;;lish or in Assamese
OP’I‘ION—;‘A |
[ History of Europe (1453-1815) ]
1. Answer the following quéstions in one word or
in one sentence : - 1x10=10

TR PPTRY ©eT aﬁrwwwﬁ—«

; (a) What do you understand by the term
' Reformation Movement?

RO 3 GERER Wz Jorcer e o ?

I },,15-300012264\ ' - (Turn Over)




(2)

() Who was Martin Luther?
T FAIR W =R ?

() Name a humanist writer of the
Renaissance period.

TREIRIR ARER @R TRoRm s am
foram 1

(d) Who were the Jacobins?
PR W wRA?

() Who was Calvin?
A (W HIfRe ?

() Who was Metternich?
CHRET P SRt ?

(g9 In which year was the Peace of
Westphalia signed?

BT TR G TS RS (e 2
(h) What is Cahier?
s e B 3w ?
(ij When did the Bastille fall?
| afor e ot w2
() What is the meaning of Renaissance?

e a7
A15—3000/226A

( Continued )

:p
|
i

(3)

2. Answer the following questions in brief :
2x5=10

mewm:

(a) Write a brief note on the palntlngs of
Leonardo da Vinci.

freace w PR ey R uft o R for |

(b) What was the ‘Social Contract’?
‘corfoare Fhe” 1 ke 2

(c) What was the Reign of Terror’?
StgprETe R wiRe ?

(d) What was the ‘Continental System’?
TN oS’ [ e ?

(¢) When was the Battle of Trafalgar fought
and between whom?

WW%@%“WWWWW
2= 2

3. Write short notes on any Sour of the

following : 5x4=20
were frn R e wifkerR o Goreet s
(a) Johann Gutenburg
Q@R S
»15—3000/226A (Turn Over)



(4) ' (5) ,
| @) Machiavelli ' (c) Trace the different stages of the Thirty ‘
il ’ T aCa] ) o Years;, War. NETEe |

(c). Peace of Lubeck (14629‘) N o ' ﬁ” ?55'1" T RifeA weam W 0 |
TR (1629) - . - ' ) (d) Discuss the lmportance of the Treaty-of . |

(d) The ‘Girondists o - Westphalia-in the history of Europe. - 1‘

e - m ’Ilﬁ ¥ foeprs o e, ‘E

|

i

(e) The Consulate ' . o RN
(¢) What were the causes of the French P

fr FfReCER : |
Revolution of 1789? “
() Treaty of Tilsit 1780 5 S Rerd TR B - ,!
foafoea st | R ,;
(f) - Assess the role of the intellectuals in the 1 |
French Revolution. .. [
4. Answer any four of the following questions : TARPRER W J
9 1
- A 10x4=40 | i ReRe W .
2T R @I wiReR . , o - I
o R Al (g) Discuss ‘the causes ‘for the ' rise +'of
(a) What were the effects of the Renaissance Napoleon to pPower. S j '
upon Europe? " oA UMY FRCPTR SCAASA 47 | }
TR TS 5 7o) 1S/ CTtRfde 0 |
) (h) Assess the role of economic factors in the i
(b) Discuss the main - features of the downfall of Napoleon. - R !
Reformation Movement in Europe ¢
Eeonfergag o m‘taf%? m i
R GORFE A 24 Zaﬁéwg ol 1 | o
HICHAD 991 |

A15—30Q0/ 226 0 AL (:Continued )| »15—3000/226A ' A® % ( Turn Over) I




(6)

OPTION—B
[ History of Europe (1815-1945) |

5. Answer the following questions in one word or
in one sentence : 1x10=10

T AP TeT By 1 IS o

(a) Who initiated the Holy Alliance?

Holy Alliance-¥ SRS A *BUoFel &I
R ? - -

(b) In which year did Louis Philippe abdicate
the throne of France?

% Rficl @ e FER Brepm oRfes @
A BT @W e FER PWeR ¢
CofeTiRfRE 2

(¢ Who introduced the policy of blood and
iron’?

‘Blood and iron’ Sif$ (I 2T FRfRer 2

(d) Who were. the participants in the
Crimean War?

AR TES T IR T FRRE T o
@ R @ PRI ?

A15—3000/226A

( Continued )

(7)

(e) In which year was the Franco-Prussian 3
War fought?

FICF-F AR Lo W 57 A0S 02fRe 2
() Who doctored thé Ems Telegraph?
Ems Telegraph (I JTeifRa ?

(g) In which year did the First World War
begin? .
- oYy ﬁ‘ﬂﬂ%ﬁ Ieaich) ’I’ﬂﬁ?@ Ziﬁﬁm

(h) Where is Pearl Harbour situated?
A FR TS SfFS 2

(i) In which year was the Locarno Pact
signed?
@ TR CARFICAT ‘T@i TrHRS t:fia A T
Eal Zifiﬁ ?
) In which year did the World Economic
Depression occur?

R e T o S Lefeer

A15—-3000/226A - ( Turn Over)




(8)

6. Answer the following questions in brief :

"(a)

(b)

(c)

@

(e)

A15—3000/226A

2x5=10

Mention two effects of the Revolution of
1930.

1930 t4 Rigi<R 751 oo ford |

Name the two Houses of French
Parliament formed by Louis XVIIL.

Wmmwmww@wm
2 '

Write two most important causes for the
outbreak of the First World War.

ojar RPegad o1 241 PR SCEry 91|

Name the :two blocs which fought the
Second World War.

ﬁ@aﬁﬁﬁ@@%@%@tﬁ%,w
34T | |

Name two important treaties that were
signed at the end of the Second World

War.
Rem fIEd WS W 0 9 A i
2 £, forar |

( Continued )

(9)

7. Write short notes on any four of the
following : ‘ 5x4=20

wore fra R e 516 oy, Gt ﬁm
fa) Congress of Vienna
- oo wer
(b) Russian Révolution - o
. e Rew
(c) Count Cavour
% @
(d) Crimean War
(e) Rome-Berlin-Tokyo Axis
Q@E-MMA-5°RFs «ﬂ% .
0 Naz1sm - "
8. Answer ény Sour of the following ﬁuestions :
10x4=40
o Py R I DR B oy s

a) Analyze the causes of the Revolution of
1848.

1848WﬁWW‘T’Q§WWI &

| A15—3000/226A .~ " (TurnOver)




(b)

(c)

@

(e)

(10)

Describe the - process of Italian
Unification.

SHierm SRR - oRe S R
STCATST T4 |

Assess the role of Bismarck in the
process of German Unification.

wif eRerTe Roaréy gfier Rema 1)

Discuss the circumstances that led to the
fall of monarchy in Russia.

FRAN IAEOFT o FRPIR ACALA I
I IoEF TR RIS SRZA AR
IRFIR Rew sesivan 41 |

Explain the circumstances leading to the
First World War. What were its effects?

gy Rwga et @R ke @

ez & &, quﬁqma—m@ﬁ

& &, fran

Review the League of Nations. Why did it
fail?

League of Nation-3 Ragy SRS 3 |
% Ry Rt o,

(11)

(g9 To what extent was the Treaty of
Versailles responsible for the outbreak of
the Second World War?

28 Rugm eive w© SRR At [Re
TRz sifee, AR 30 |

(h) What were the effects of the Second
World War?

25 R SR & % e 2

% %
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2014
SANSKRIT
( General )
Paper : 5.1
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions
1. Answer the following questions : 1x10=10
o PR Tl o - :
(a) Abhijianasakuntalam has 6 / 7 / 8 Acts.
( Select the correct number )

TR Mo oBl / 981 / vB e

R |
o (o s AR S )
(b) Who was Vaikhanasa? B
AP (I R 2
(c) Which God is eulogised in the Nindi verse
of Abhijiidnasakuntalam? :
‘SfSErrRETY M cIRite - RIS
CSR TS M (R ?
\15—700/96 ‘ ( Turn Over )
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(2) ( 3)

\

(d) Name one of Sakuntala’s friend. : (b) “fHf f& wgaon woeT TR
T R R T o Who said- this line? About whom it was

said?

(e) Who was Sakuntala’s foster father?
PYFE A @I%ai’? IR Ry g @:1

PO (O PIP et 2 : N
(f) 'What is said to be the eyes of king? ! (€ ' ol wg ehEr SR
quﬁw DA Who made this comment? Why.. he made
(g) Who is known as ‘4=RFT"? such comment?
‘G I T W @A R T IRRA? R 08 @@ T
) , FRENWLTA? :
Write the source of Kirdtarjuniyam.
ﬁ ! BT B9 (d) What do you understand by 1TFI’q‘T qaa‘]{
| , et Sl e R g o
() What is the meaning of the word ‘"2 r (e) What do you think was the basic cause of -
R R e R | Draupadi’s wrath and anguish towards -
o . 0 -
() Who is ‘ZTT? Yudhisthira® ‘,
G A - IR A AR @y TF AfRerR IR
) gﬁ CEIGACRIN ‘
2. Answer the following questions as directed : 2x5-10 3. Translate into English or Assamese any one of
ot S wol T Tes o - - the following :
‘ W W
(a) S TR R g @ 1 Wﬁm@mmww
Who is-the speaker here? To whom it was , . (a) T Wﬁﬁqﬂmﬁ mﬁ '
said? , .; yaRemiEars 1|
Wrﬁwmmﬂwwm?ﬂ%o ; Wﬂﬁ@?‘fa fiam:
W g’qﬁmll_
- ] .
A15—700/96 " ( Continued ) |/A15—700/96 ( Turn Over )
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. Answer the following questxon m your own

Al15—700/96

(4)

(b) TR TR WY
WA ATEey: |
TR e -
L 1 G AL -ﬂwew: I

-

language o S
S 2PTE TaT Frars st ﬁm

“‘gTgRTRoT WTETq TEEE Rt
Who is the speaker here? Write thé allus1on
contained in the line.

Wﬁam@mmﬁﬁshwm
W‘Mﬁml

- Answer any two of the following questioﬁs :

10%2=20
@y I Yo o Teq o
( a) Estimate Kilidasa as a dramatist in the light
of Abhijiidnasakuntalam, S

‘ST SRS m &m
PR FOET T

(b) * Compare the charact’ers"o_f Anasiiyd and

Priyamvada. * 4
SISO |
( Continued )

115--700/96

(5)

(c) Discuss the dramatic significance of
Durvasd’s curse in  the drama,
Abhijianasakuntalam.

‘TR wﬁwmwﬁmﬂam

R SICEASAT 1T |

Translate into English or Assamese any one of
the following : 5
o R AT @Bt TN A mﬁmﬁa SR 3 :

(a) 9 R BRefwg-
B it gew
W:ﬁggpﬂgmu
(b) ¥ fFeET 9y T WmiE Ay
R 3 SR w R

mﬁﬁrﬁ |
Mamu

Expound the idea contamed in any one of the
following :

o R QI 95RO 3l forat

(a) @& 1 T99g iRy
(b) T AANSR W wEEHhy)

5

( Turn Over )
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8. Answer any two of the following questions : 2014
N 10x2=20
i R I Bt g T By SANSKRIT
(a) Present a discourse on the government ( General )

policy--o‘f Duryodhana as reflected in the
Vanecara’s speech.

Paper : 5.2
AT TS $PT CIRT YHIER PH Ey
ﬁm ST 7 | Full Marks : 80
o . : Time : 3 hours
(b) - mﬂﬁmmﬁa = ARSI

Quoting apt illustrations from your text, The figures in the margin Z:ilscateﬁtu marks
explain the above statement. _ Jor the ques i
oM “R1=RT o1 %’l{@ T e Answer either in English or in Assamese
PRI I A

( Jaymati Kivya ‘)

(c) Discuss the plight of the Pandavas during |
exile as reflected in the Draupadl s speech. (Marks:30)

@ﬁ?mﬂmﬁsmww

' ; 1. Answer the following questions : - 1x5=5
FIFTCRIAS “NSPRFAT 7 Raca Sew=n 341 | g |
“ oI ST T il
* * * o ~ (a) How many verses are there in the Sati
Jaymati Kavya?

@ wENel’ Waﬁbﬁmﬁrmwv

(b) Write the name of the first Ahom king.
LAY SN IHEI 9 Fordi |

A15—700/96 | 3 (Sem-5) SAN 1 15—700/97 ( Turn Over )




(2)

(c) Give the Sanskrit equivalent of ‘aTuft’,
Ui’ =1 e A @ |
(d) Who is meant by “TR¥’?
TRHFT'T WI_T I IO (R ?
(e) The Chapters of the Sati Jaymati are known
as —.
( Fill up the gap )

18 SIS’ PRI YRR AT —— |
(AR IR @)
. Answer the following : ‘ 2x5=10
Sere fraaee T il -

(a) Quote from your memory the First Verse of
the Sati Jaymati. '

O TS IR A I e ot

(b) Write the names of the Kavyas written by
Bhavadeva Bhagawati.

3. Explain the following (any one) :

WWWW?{NWI

(c) Write a short note op king Cukafa as you
find in the Sati Jaymasg

18! TSN IS (R 497G TR ER R
«f5 5 Bt o 1
A15—700/97 ( Continued

A 5—-700/97

(d) Describe briefly the natural beauty of the
hermitage of sage Vasistha as you find in the
Sati Jaymati.

A TS FRIC CRT 430 I JAT TS
1P G T 941 341 |

(e) Mention two powerful kings of ancient
Kamariipa as noted in the Sati Jaymati.

8 S IS @ PR TE MR
oI I BeER 31 1

oT® MR [ 41 (R e «aby) -

(a) “og Ffeend YasrmgawET
wag ¥ wfie: M gEe
wifig wEeT e g

(b) afBr 47 sy ARY wMeatred R
anfpfg: gEFegar aiwrd yHior |
e I TR R W=
T T PR e el

( Turn Over )
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4. Writeanote onthe contents of the Sati Jaymati. 10|

EoR Ty Wﬁweﬁa@aﬁMﬂw
I

Or / 5331

Describe the glory of ancient Kamartipa as
depicted in the Sati Jaymati Kavya.

O TS FRIS ANS [eq o AR (AR
ﬁmr A 3 !

( HiStory of Sanskrit Literature )
( Marks : 30 )

5. Answer any two of the following questions :

SR R I B! 2 Bey 7

(a) Write a note on the salient features of any
one of the dramas of Bhavabhiiti.

G We R e o e mme

QBRI ¥ <1 By orws 1 |
(b) Present a critical. assessment . of the
Daéakumpmcanta
TR R «qﬁ W TEIE
o#FS 341 |
( Continued

A15—700/97

10x2=20}

(§)

(c) Write a note on the Didactic Fables in
Sanskrit literature.

KPS NROK TorrpEre AT ¢o©
951 BT ford |

(d) Estimate Kalidasa as a dramatist.

SRR PR T 3 |

6. Write short notés on (any two) :
59 ¢orel fordT (R et o)
IoRTE ; RRAI_T ; arwEEE),

( Nitisatakam )

( Marks : 20)

7. Present a note on the literary excellence of the
Nitisataka prescribed in your text. 10

CNR e TEfe ‘RAfrer’y TR IR
Gz Racs «ft GReT 2/ <41 |

Or / 91

’ Write a note on the teachings of Nitifataka with

apt illustrations from your text.

7 A15—700/97

TR AT (MR SN weefe ‘e
Borrrri «ft Gre o |

( Turn Over )
!
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I8 No. of printed Pages = 03 . 3(SemS)ENGL 1

(e) 2014
English
8. Fill up the gaps : 1x5=5 (Elective)
R S o : ' Paper: 5.1
(a) TRsfHRrsE —— & wREy| Full Marks: 80

Time: 3 Hours

(b) Ar: T wieEfiReE: ——I|

Ihe figures in the margins indicate full marks for the questions

(c) 7w g, T ——|
Section - A
9. Write briefly the meaning of the following

statement : : . 5 Answer any four of the following questions: 10x4=40
TR RPN o fordt |

T R Jow does Naipaul connect the two figures of Columbus and

“qder TRl ' Srusoe in the essay prescribed for you? Give reasons for your
mswer.
Ckk ok ' D0 you agree to the ways through which Russell looks at the

L;bj ect of happiness? Provide your perspective on the matter.

ive a critical overview of Matthew Arnold’s “Literature
Lnd Science.”

»hy does Shaw say that no one is perfectly free? Give reasons
OT your answer.

Eive an account of the major ideas discussed by Bacon in his
»ssay “Of Studies.”

Lrovide your impression of Orwell’s objectivity in terms of his

Iepl‘esentation of Gandhi. |
I P.TO

A15—700/97 3 (Sem-5) SAN 2 l
b

o - S tr



(2)
Section — B

7. Explain, with reference to the context, any two of

the following: 10x2=20

a. The object of all honest Governments should be to
prevent your being imposed on in this way. But the |
object of most actual Governments, I regret to say, |
is exactly the opposite.

b. All along summer holiday I kept my secret, as [ believeq: l

1 did not want anybody to know that I could. read. | suppose !
I half consciously realized even then that this was the i
dangerous moment. |

c. Poetry and philOsophy had met .tOgether. Tr}'lth and Genjus hat
embraced, under the eye and with the sanction of Religjon .
this was even beyond my hopes. I returned home wej;

satisfied.

N ———— e

8. Answer any ten.of the following as directed: 10x1=]

a. Who is the first poet mentioned by Hazlitt in My Fi.q,
Acquaintance with Poets? .
b. What, according to Shaw, should we be doing for one-third

of our lifetime? d Science !
¢. Who is the author of Literature and Science™? |

d. Graham Greene was Victorian writer. (True/False)

e. What is the actual name of George Orwell?

f. Jonathan Swift was an Augustan satirist. (True/False)

g. Bertrand Russell is the author of “Road to Happiness » :
(True/False) : i

h. What, according to Bacon, are to be tasted, swallowed,

chewed and digested?
i. Who calls Robinson Crusoe a ‘monologue’?

3)

J- Who wrote The Life of Dr John Donne in the seventeenth

century?
k. William Hazlitt was a Romantic poet. (True/False)

9. Answer any five of the following questions: 2x5=10

a. Write a brief note on Hazlitt’s portrait of Coleridge in My
First Acquaintance with Poels.

b. Enumerate two major issues highlighted by Russell in his “

“Road to Happiness.” .
¢. Comment on Swift’s language in the third chapter of
Gulliver’s Travels.
d. Write briefly on Walton’s style in his account of Donne

prescribed foryou. '
e. Comment on the Arnoldian view on science and its

impact on life. )
£ What does Shaw say about slavery in “Freedom.”

QQaQ
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ENGLISH -
' ( Elective )
Paper : 5.2 |

Full Marks : 80
Time .: 3 hours

Theﬁguresznthemarymmdwateﬁdlmarks
' forthequestwns '

1. Write an essay on'any one of the following

| topics : . . - ; 20

(a) Role of education in the economic
development of a country

l; (b) Student organisations and politics '
' (g The girl child in [ndia
(d) Physical fitness
2. Write the substance of the poem given
below : ‘ 10
s Neutral Tones

We stood by a pond that winter day
And the sun was white, as though
B ~ chidden of God,
And a few Jeaves lay on the starving sod;
 _They had fallen from an ash, and were gray.

\15—700/147 "( Turn’ Over )



(2) - (3)

Your eyes on me were as eyes that rove | . .
Over tedious riddles solved years ago; In the past, fires would somet.lmes be lit at
And some words played between us to and fro night to mark dan.ger.ous sections of coast,
On which lost the more by our love. but frequently their light was too feeble to

penetrate the gloom. Eventually, the idea of a
lighthouse was born. This was a tall tower,
deadest thing often located on an island out at sea and
Alive enough to have strength to die; carrying a bright light at its top, warning
And a grin of bitterness swept thereby ships of treacherous rocks ahead. Two or
Lite an ominous bird a-wing.... , three men, called lighthouse keepers, had to

live in the lighthouse so that the light could

Since then keen lessons that love deceives be maintained permanently. But
And wrings with wrong, have shaped to me constructing a lighthouse could be extremely
Your face, and the God-curst sun, and a tree, difficult. The tale of one such lighthouse
And a pond edged with grayish leaves. shows how difficult it was to build; it is all

The smile on your mouth was the

. the more fascinating because of a mysterj'
—Thomas Hardy that later surrounded it.

The construction of this lighthouse began in
1895 and, becauseé of the island’s isolated
location and hostile weather, it took four
years to complete. The island’s light shown
out for the first time in 1899. All went well
over the first winter and summer. The crane
used to lift all the building materials in the
lighthouse’s construction was left in place.
One loot at the list of supplies regularly
taken by boat to the lighthouse shows why
the crane was required. The metal containers
of oil for the lamp and the boxes of food and
wooden barrels of freshwater needed by the
keepers for survival, were extremely heavy.

3. Write a précis of the given passage aﬁd
provide a suitable title to it : 8+2=10

The appearance of land at the end of a long
sea journey must be a welcome sight for any
ship’s captain. Yet he has to be particularly
alert at this stage of the voyage, for in many
parts of the world there are often rocky
islands close to the shore he is approaching.
These islands seem to lie in wait like hunters
watching for their prey. Their jagged rocks
trap and wreck many ships whose journeys
take them too close to their perilous shores.

A15—700/147 ( Continued )ﬁl 5_700/147 ( Turn Over )
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4. Expand the idea contained in any one of

S.

A15—700/147

the following :

(a) Where there is a will, there is a way.
(b) An idle brain is the devil’s workshop.
(c) Prevention is better than cure.

(d) A friend in need is a friend indeed.

Write a report on the good work of an NGO
with the help of the given outline :

(@) Name of the organisation, the date of its
inception and its objectives

(b) Providing home/a place to stay for
street children in the city

{c) The number of children provided for and
their education facilities

(d) The response from the government and

media

(e) The children’s opinion about their stay
and experience

Wl"ite a letter (in about 250 words) to your
Principal requesting him to consider
financial aid for a poor student of your class.

10

10

10

( Continued ) A15—700/147

(S)

Or

Write a letter to your friend describing two
extreme weather conditions of your area.

Write a dialogue (of 20 exchanges) to indicate
the exchange between two persons in any
one of the following situations :

(a) Two friends discussing price rise of
essential commodities and measures to
be taken by the government

(b) Discussion between the Chief Minister
and a common citizen on border issues
of the State

(c) A popular aétor and a fan talking about
a recent film

10
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